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19. INTERNATIONAL SOLVING CONTEST "0"=wrong solution
29 JANUARY 2023 " "= no solution
RESULT 0 pts per

(Japan - Tokyo) round =

Cat Name 1 2 3 4 s 6 7 8 9 10 11 12 TOT. Time' Time —HME___ PLAC d200ni
Rd1 Rd2

1 28 5 5 5 2 5 5 5 4 0 - 25 5 43,5 120 120 240 1
1 BlsRE 5 4 5 3 - - 5 5 5 5 25 - 395 120 120 240 2
1 E/NITE N e} 5 1 - 2 - 25 5 5 - 5 1.25 0 26.75 120 120 240 3
1 ERREZ 5 - - 3 - - 5 4 - 5 375 - 25.75 120 120 240 4
1 FARKNE 5 5 -1 25 - 5 3 - 0 25 0 24 120 120 240 5
1 BR = 5 0 0 1 - - 5 4 - 5 3.75 - 23.75 120 120 240 6
1 KIIEEE 5 3 0 - - 50 5 - 0 - 5 0 23 120 120 240 7
1 =k 5 15 0 1 - - 5 2 0 - 5 - 19.5 120 120 240 8
1 BISEEES 5 2 0 O - 5 5 0 0 O - 0 17 120 120 240 9
1 hARE— 5 1 - 2 - - 5 - 0 4 - - 17 120 120 240 9
1 LN SIEL ) 5 15 - 0 - - 5 4 - - 1.25 - 16.75 120 120 240 11
1 H it 0 2 - - 5 0 5 - - 0 375 0 15.75 120 120 240 12
1 hUSIEF 5 0o 2 - 0 5 0 0 O - - 15 120 120 240 13
1 RREfMA 5 -1 - 125 5 - 0 1 - 0 14.25 120 120 240 14
2 Shiven Garg - - 0 - 0 0 5 0 0 O 0 25 7.5 120 120 240 1
2 B E 0O 0 O 0 o 0 0O 0 O O 0 0 0 120 120 240
3 H RS 5 5 5 0 5 1 21 120 120 1
3 Vivaan Garg 0O 0 0 o 1 1 120 120
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